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Question 1 of 4

EE201 Final

1) The circuit below is operating in the sinusoidal steady state, and the phasor current / is passing through it
how much total complex power is dissipated on this circuit?

10Q, L = 100uH, C = 1uF, I=1A (rms). What is the total impedance, and
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Note: Total time allowed is 100 min. Please show all your work and write legibly
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2) The circuit below is operating in the sinusoidal steady state, and the voltage variables shown are the

phasor voltages.
a) Find the E,/E; gain (in terms of the angular frequency o).
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3) Implement a circuit with two voltage inputs V; and V, ; and one voltage output V, such that:

av,
=2l i) e
N dt
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4) The circuit below is operating in the sinusoidal steady state. Write three equations which are necessary to
solve for the phasor voltages Vi, Va, V5. Do not solve the equations; just write them correctly and

completely.
{
o j\@C\
L
]\
R, Ly v, L
\/\v 2 YTV /:‘("‘V’Y'\ 2
o JioL, oy :
C’X;\//‘ V(1) =8 cos (10t) V R, é R, Vs
C T e
_JT_ &
Equation 1:
j oL )
L Teu
Equation 2:
VR -
J?»QOQ.\‘ K'L Jqﬁo L2-
Equation 3: q J
Vs, ""V!ﬁ :’m e O
e Jove Ra
3ocy

Question 4 of 4




